Parts List .«..x:

B 1N FL 4

Model: JC300DX N—=YZr3—k 523611






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
2. IO (DTUDT =R DU e 3~6
I SRV QU b B 100 5 St 3 B 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 12



1. JC300DX

X K




RHEES | HaES B & {1 &% &
1-1 363997 | JC300DX 1
1-2 817002 | 6 h4H Wb (+)WSW 4 | M5x20
1-3 096042 | 6 HYK L (+)WSW 1 | M5x30
1-4 221473 | 959Fr—A934T 1 |5~7794
1-5 221474 | 959Fh—2A 1
1-6 016405 | ATYYY 1 | #6200ZZ
1-7 013825 | C h'4kin 1 | #30
1-8 222671 | 979FF 7LV 1
1-9 226399 | T UMDY IH348T 1
1-10 219435 | £ 9YUh 1hoebA 1
1-11 215532 | fiv44=%") 1
1-12 054691 | YUhT9 9347 1 [ 137494
1-13 089738 | 6 HUH Ik (+ 77 &V ) 1 | M5x15
1-14 228446 | NUNIWMYTATY H38T 1 | 157494
1-15 092561 | 6 H9K Lk (+)SW 6 | M5x25 777 EYh
1-16 228089 | ¥’ Yh—AY34T 1 [ 17~ 23744
1-17 234247 | 6 hif Wb 1 | M8X8
1-18 092550 | 6 HYH Wb (+)SW 1 | M5x25-7T
1-19 212986 | NE/HRRA 1
1-20 219195 | nE/K'AB 1
1-21 215610 | 6 h4H Wb WSW 1 | M8x22 t4)
1-22 222128 | ¥¥IF R IUNY 1
1-23 222129 | 4YEVAY 1 | 5x20
1-24 089737 | 6 AR Wb (+ 777 EYH) 1 | M5x12
1-25 220549 | F194v—) 1
1-26 233883 | #—L7°L—b 1 | JC300DX
1-27 231654 | NJI—=4 1 | ECO
1-28 229790 | AnUNILTRA 1
1-29 226961 | AUNILTIA 1
1-30 226963 | A{VFr—AH34T 1 |31 ~33744L
1-31 226988 | TAIRY (4) 1 | M5x18
1-32 012487 | 3% h'% 1 | M5
1-33 126993 | 6 hH9F Yk 1 | M5
1-34 226987 | AMYT AAYFTIA 1
1-35 222138 | A4YFhN - 1
1-36 232959 | M)AH34T (T19) 1
1-37 232969 | ARYMLLA'— (T19) 1
1-38 233228 | 74YThA 1 | 720X63
1-39 220533 | BARTNUNH3ET 1
1-40 222821 | Y A9AVHAN-H3I4T 1 | 41,42 794
1-41 212994 | AN =V EhTY 1
1-42 092561 | 6 H9K Lk (+)SW 2 | M5x25 777 &Y
1-43 224693 | ¥Y7°Y- 10 1




2. JC300DX Ty

DIU0r—R, VIUE

4

.ﬂ

AN *
o
[e0]
N




RHES | BHRAES B & FR B % i
2-1 859123 | IVY'Y 1 | CE300/73
2-2 286791 | Yy av77)—b 1
2-3 286846 | H ATYH 1
2-4 261250 | 6 H97FIEK ILE WSW 4 | M5x20
2-5 269144 | 41UY1L—4 1
2-6 267049 | B AFYb 1
2-7 269826 | TAIRY ()WSW 2 | M5x25WSW *v4
2-8 288044 | ¥757+tY7Y 1 [9~12744
2-9 283003 | ¥v773v7-b 1
2-10 268171 | T4l 1

-1 287254 | I AHYb 1
-12 265107 | 6 h97+HV%770Y K bk 2 | M4x10
- 281440 | i A4 Yb 1
- 266402 | A%Y1 2 | M5x55
- 281435 | 78 —hin'— 1
2-1 269827 | FAI4Y (HWSW 1
2-1 286707 | M7AN-TtU7) 1 |18~ 21744
2-1 281434 | M7 hiv— 1
2-1 286300 | J7'YhA 1
2-2 261020 | AN —¥ 1
2-21 261734 | 5)Y7° MY 1
2-22 286851 | 4509 —A 1
2-23 280488 | ATYYY 2 | PPL 6001
2-24 261492 | #4LY—N 1
2-25 261386 | #4LY—IL 1
2-26 055185 | C h'4kArT 1 | 7F37 28
2-27 261612 | 6 h97FY%K Lk WSW 3 | M5x30
2-28 281442 | 29—y 1
2-29 268782 | E'AbY 1
2-30 265067 | EANNUY 2
2-31 265068 | E'AMUEY 1
2-32 265225 | Z—FAATYYY 1
2-33 261393 | #=4yy7’ 2
2-34 265141 | 47099%72b30771)—b 1
2-35 284786 | 43VFTtU77) 1 |36~ 38744
2-36 284702 | 47VF KA 1
2-37 284787 | 479Fva 2
2-38 286554 | A7vY’ 2
2-39 288075 | A7vy’ 1
2-40 284704 | 7YYY 1 | 5.1x14x1.2
2-41 285220 | A%Ya 1 | M5x10
2-42 281433 | 77Uhin— 1
2-43 269831 | A1y (+)WSW 4 | M5x20WSW
2-44 287898 | ¥4 xb T VT 1 | 45 ~ 49 75
2-45 287902 | 0—4% 1




2. JC300DX TV

DI00r—R, VIUE

4

.ﬂ

AN *
o
[e0]
N




RHEES | HaES B & & &% & =
2-46 281746 | 19 =93VaANTEY7) 1 | 47 ~ 49 75L
2-47 269714 | 7°39°%%¥v7’ 1

2-48 269715 | 794 1

2-49 281756 | F1-7 1

2-50 261076 | nUr'YE— 1

2-51 288074 | Y¥7b 1

2-52 280381 | AN —¥ 2

2-53 261256 | 6 H97 Y%K ILF WSW 2 | M4x25
2-54 286739 | AN=97'3Y° 1 | CJBY
2-55 269722 | -V 1 | 165 "% HCBH
2-56 268044 | -}V 1 | 135M4_CBH
2-57 269189 | #'AAYb 1

2-58 264588 | 457" 1

2-59 269705 | 3~ 1

2-60 269824 | NI 1




3. JC300DX TV
JaAJ)LRA—4A

12



RHEES | HaES B & 1 &% &
3-1 283476 | JAAWARI-4T 1T 1 [2~12744
3-2 283477 | A4—471V77 1 | 3~117494
3-3 283504 | -l 1

3-4 283505 | hA7'L—b 1

3-5 283506 | 4VNRT WY 1

3-6 280931 | ANATNAT YUY 1

3-7 267213 | YRS 1

3-8 283578 | A-7°7tU7Y) 1 [9~117494
3-9 283579 | A4—40-7° 1

3-10 261725 | A4—4)7 1

3-11 283511 | A=7°AMUN 1

3- 283575 | A4—47"-Y7tU7") 1

3- 284698 | 7477471V 77 1

3- 283391 | A%Y1 2 | M4x20

3- 265726 | 6 W97 YK ILE WSW 4 | M4x16
3-16 282096 | A49Y1 1 | M4x16

3-17 289225 | 3~ 1 | RA4—} /JC300DX




4. JC300DX I Ty
FrILAR, BEIVY




RHEES | HaES B & 1 &% &
4-1 275847 | ¥X7L4TEV7Y 1 [2~18744
4-2 264155 | £KV7K' T4 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4%77L 1
4-9 282576 | h'AYb 1
4-10 261876 | vy 1
4-11 261658 | A4~ 1
4- 261875 | A%Y1 2
4- 264677 | 7°37vb 1
4- 261657 | Nty 1
4- 262996 | A%Y)1 4
4-1 264678 | 7YvY 1
41 261878 | TYh 1
41 263994 | A4Y)1 1
4-1 269762 | HATYb 1
4-2 289983 | H—AT7tV7Y) 1 |21 ~ 24754
4-21 268056 | #—Aik'T4 1
4-22 268157 | AY-7" 1 | 5.5x7.1x6
4-23 289736 | NIV 1
4-24 268412 | AY-7" 1 | 5.2x7.1x6.4
4-25 263345 | N'YRY 1
4-26 263942 | E3H N4 1
4-27 263815 | AT— 1
4-28 269834 | FAIAY (HWSW 2 | M5x60WSW
4-29 265026 | A%Y—-Y 1
4-30 265027 | ILAVH 1
4-31 268058 | AnN-T7tU77) 1 |32~ 34754
4-32 268059 | #Y—Fhn— 1
4-33 281438 | /)7 1
4-34 261734 | 597 b7 1
4-35 281749 | 409777 1 |36~ 46744
4-36 281439 | 71-I)4YY 1
4-37 281565 | 4v9%Y97°7tY77) 1 [387244
4-38 269377 | NIy 1
4-39 282538 | 71-ILN{7THUTY 1 |40 ~ 46 7494
4-40 282539 | N{7TEUT 1 |41 ~ 44791
4-41 268065 | 4O Yk 1
4-42 261690 | #YYAINAT’ 1 | 160L
4-43 261590 | 744779347 1
4-44 261117 | 9Y97° 1
4-45 264653 | 7ANATEU7) 1

-10-




4. JC300DX I Ty
FrILAR, MBIV

/7%

b

)
)
5’

0 @@ @w@/ﬁ@

Ye)

-11-



RHES | BHRAES B & FR B % i
4-46 261117 | 997’ 1
4-47 284042 | ARV (H)W 2 | M5X20
4-48 284043 | FTAIRY (HW 1 | M5X20
4-49 281441 | R4 1
4-50 284579 | 3~ 1 | FI-9 A1 04

-12-




5. JC300DX

T & M

-13-



RHEES | BRES I 71 &%k fis
51 221460 | K3 A% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE' R VHAANT 1
5-4 219431 | 6 ho9R9ANT 1 | ZAunn' 3
5-5 022865 | YAVHFANT 1 | 8x10
5-6 233765 | M)7Yh4tYrY3 1 | JC231/261/300DX

-14-




eco .
BB OLDDTS5SUK
\ld

AE X

Q = FLILEAETR
B EFHMBERREO

#ILYFE— bt 2—: E:F 0120-898-114
ZFIFIRERY: AN9:00~PN5:00(+. A. ¥ H ZB& <)

Printed in japan 2013-04.J




